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1. Let y = y(x) satisfy y(1) = 1 and z® + 25%y — y® = 2. Find y"(2).

2. Find ET‘“’”‘
S dz

z=1r/4'

3. Find lim (32 + 5)==F1,

T—Io0
4. Given f(z) = cos? z, find F(2%)(0).
5. Find the arc length of the curve ¢ = In{1 —z%) fromz =0 to = = 1/4.
’ e
6. Let g(z) be the inverse function of f(z) = z%¢® for z > 0. Find f g{z)de.
0

7. Find the tangent plane to the surface tan(zy) = sin(yz) at the point

z=1/4,y=mand 2=1/2.

8. Given f(z,y) = #® + 2zy + y®, find the unit vector @ such that that the
directional derivative of f{z,y) at the point (1,2} and in the direction @ attaine
its maximum.

. px=8 py=2
9. Evaluate [ sin{y*)dydz.

=0 =a1/8

10. Solve the differential equation #3y’ = secy, y(1) =r/6.
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y=2/3 pz=2-~2y

A., Evaluate / f (z+2y)e¥ " dzdy by making the change of vari-
y:() =

ables u =z -2y and v = yy— x.

B. Use Lagrange multipliers to find the minimal distance from the origin to

the surface 22 = zy + 1.
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